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Sketch the following equations on the nu

no intercepts, mark two points on the graph. Yo
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mber planes below. Mark any intercepts. if there are

ur sketches need not be to scale.

@ y=x*+3 (b) y=-x"+4 © y=(-2Y-3
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2. _(a) At what point do exponenﬁél graphs always cross the y axis? _
(b) Why? _ -

3. Sketch the graphs of these equations.

(@ y=2x-3 (b) =3 © y=(x-2)(x+3)
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©) y=— ) x*+y>=9 )

y=(3-x)(x+4)

"4 Write the correct equation under each sketch.
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On the set of axes below draw ihe triangle P(0,8) Q(8,7) R(4,0)
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(=) Show that the triangle PQR is isosceles

Cb) Name the equal sides
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(<) Wiite gown the coordinates of T, the Midpoint of PR . A'

o
L

L

¢d) ShowthatQT is perpendicular 10 PR |

(e) Write the equation of Qr

(f) Find the coordinates of a point S, SO that PQRS is a Rhombus. .
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